AR18.20-P-3471-01VA Bolt plan for the oil filter housing

M ol filter
Number Designation Engine Engine
272 273
BA18.20-P-1002-010 Self-tapping screw, oil filter housing at timing case cover Nm | 20 20
BA18.20-P-1003-010 Bolt, oil filter housing at crankcase Nm | 20 20

Assignment of bolts for oil filter housing

Bolts of oil filter housing to timing case cover
1 Bore for bolt M8 x54
2 Bore for bolt M8 x29

Bolts of oil filter housing to crankcase:
Bore for bolt M8 x100

Bore for bolt M8 x100

Bore for bolt M8 x80

Bore for bolt M8 x80

(SIS BN}

© Daimler AG, 1/1/11, G/07/10 / ar18.20-p-3471-01va / Bolt plan for the oil filter housing
ENGINE 272, 273 /

P18.20-2044-12

Page 1 of 1




